05

02
ha
H27) | (RO2) | (RO3) | (RO3)
10.1 85 838 78 |
(ha)
(10.1ha) 1z
h a 10 T
; M *
6
4
2
n
O w7 w8 W9 W0 W1 ROz RO3
H27) | (RO2) | (RO3) | (RO3)
456 1412 1,733 600 .:6:.
(FA)
(456 ) 2, 000
1,277
1,500 N
1, 000
PR
500 .
i
07 s W9 W0 ROT ROZ W03
t
H27) | (RO2) | (RO3) | (RO3)
11,315 11,236 11,132 12,079 *
(t)
9,980t 1,28 e
5t 183t 160t 10t 12.000
10. 000
8,000 -*
6,000
4,000
2.000 I
O %7 Wzs W9 W0 wOT ROZ WO3
H27) | (RO2) | (RO3) | (RO3)
1,894,352 | 1,608,654 | 1,700,379 | 1,900,000 *
(FA)
(1,894,352 ) 2, 000, 000
3,973
1,500, 000 o
o
1. 000, 000
500, 000
1

27 W28 H23 W30 RO1 ROZ RU3




01

H27) | (RO2) | (RO3) | (RO3)
179 173 162 200 *
(A)
(179 ) 17 2
200 e —
150 4 -
100
50
1
077 W W9 W0 ROT ROZ RO3
01
H27) | (RO2) | (RO3) | (RO3)
22 21 17 30 *
GEA)
35
22
( ) 30 -m
25 RS
-*
20 ‘N—'—-‘.—.—\
PR 15
10
? I
O w7 w8 W9 W0 W1 ROz RO3
02
H27) | (RO2) | (RO3) | (RO3)
79.2 79.4 795 814 .:5:.
(96)
(79.2 ) 1
0.3 79. 4 ol
0.1 -
60 '
40
20
n
077 W W9 W0 ROT ROZ RO3
02
H27) | (RO2) | (RO3) | (RO3)
0 523 57.5 894 | et
(ha)
(oha 100 =
5ha (52.3ha 5 e
* -
3 &0 ”I 1
40 2
’c’
20 ,a”
| . | "
H30 RO1 ROZ RO3




03

H27) | (RO2) | (RO3) | (RO3)
76.8 73.2 87.6 74.6 .:‘:.
(t)
(76.8t) 1
10. 8t i Pad
T NN |
60 Ol\
40
20 ‘
i
077 W W9 W0 ROT ROZ RO3
03
(H27) (RO2) (R0O3) (R0O3)
16,310 11,952 16,117 20,000 *
(Fm)
H29 R3 30, 000
21 (16,310 ) 4,5 25, 000 m
20,000 / — e RS
15, 000 i \VL
PR 10, 000
5. 000
(2]
0777 28 W9 W0 moT ROZ RO3
03
(H27) (RO2) (RO3) (R0O3)
80.0 78.0 79.6 85.0 *
(96)
100
(80.0 ) 0.4 P ———— |
-
60 '
40
20
1
077 W W9 W0 ROT ROZ RO3




